74" MAX. O.A. FRAME WIDTH

POWERED Ber“‘l

m\\’\:\_\\_l\“

RIE.OF 7
. SCh
123"

ENDURA

DOOR COMPONENTS MADE IN THE USA ’320” :g :
fal “.'. "u“""
ki 300
M

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.O. Box 230 Valrico Fl. 33595
Phone No.: 813.659.9197
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.
CERTIFICATE OF REGISTRATION # F—11852

Documents Prepared By

Opaque Steel Door

"NON-IMPACT"

Q Q
INSWING / OUTSWING s <= 55
=z [ n=z
2 353 Sy
<: [ %) é p= Nid
of 3% =) < Sz
XE 00 g I[yks
< o L 3
=8 =5 X X = |2 L
N+ ®°3 ol “n
L .. SD
EVALUATED FOR USE IN THE STATE OF TEXAS 'g o A
The Steel Door system described herein complies with the 2018 Intemational o] = = &
Residential Code (IRC), Sections R301 & R609 and the 2018 international Building @ Y
Code (IBC}). Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the
following conditions: - % &
1. Anchors shall be as listed and spaced as shown in the details. Anchor

embedment fo base material shall be beyond wall dressing or stucco.
2. When used in areas requiring wind-bome debris protection this product is
required to be protected with an impact resistant covering that complies

Ly
[
(@]
KO
S
= =
with Section R301.2.1.2 of the IRC and Section 1609.2 of the IBC. %189 EBJ o
3. Allowable design pressure requirements must be equal to or less than the b ; = %
design pressure rating shown in the design pressure chart, sheet 1 of this N o
drawing. E Nz >
4. Conditions not covered by this drawing are subject to further engineering 5 Rlxl |
analysis. 8|
Ll
RaE
3
TABLE OF CONTENTS o| |0
N
SHEET # | DESCRIPTION Q g%"
- - - N I\
1 Typical elevations, design pressures & general notes ol |o
2| Astragal defails (Ulfimate Mulfipoint) XX INSWING +50.0 -50.0 +50.0 -50.0 NREE
3 Astragal details (Ufimate Huricane) PINE Z
4 | Door panel details XX OUTSWING +55.0 -55.0 +45.0 -45.0 DATE: 11,/08/16
5 Horizontal & vertical cross sections scate:  N.T.S.
é | Vertical cross sections XX INSWING +50.0 -50.0 +50.0 -50.0 DWG. BY: JK
7 Frame anchoring "FusionFrame" CHK. BY: LFS
XX OUTSWING | +50.0 | -50.0 | +45.0 | -45.0 53

sieer 1 oF 7

Ri\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-850 Masonite ST Opaque (LK,DB\C - Drawings\TX-4653.56.dwg, TX-4653

© zo0186 R.W. BUILDING CONSULTANTS IND.



e

e
" —_—

A

£

s

]

",

A7

——

e
O\ e

> -
W

\

ey

ui
Upper Bolt Sleeve - Aluminum | af
G 83 £ o
Ex @ b3
» [H] e M = -
'Y ® uj Owm o i
uw o Z ~ E 1N
& E CS [{2. d g g =
(4] z 9 z
" 30
| §3® g@
) | § o8y g8
0. i\‘ ‘ 3 2 g 2 %i
bl =
S | (2)#8X1-1/2" s —Ea = e Rl B . = = £ Bad
| ™~ PFH WOOD SCREWS 2 . = 8¢
1\ : 3k
ui , E
Upper Latch - Reinf Resin | 1= N\ 33.75 3 @< =
{2)#6-32 X 5/8" MACHINE SCREWS 520" =
(4)#8 X 3" PFH WOOD SCREWS £0.0"
=
77.75" =
S = a9
ot ANCHOR SCREW LOCATIONS ) =9
Lower Latch E S a5
Upper Latch (] X 52
a0 Q o <T
& |3 2u
. e, = @
e ] H: &x " e - - ] (N A 5%‘
A 9 5=
Latch Actuator 1.75" 1.75" —=] . . <=
Steel = =l s § g =
7.5" 26.0|| 8 %
35.5" LATCH & -
: 41" DEADBOLT I 1 P
| ‘ by
Upper/Lower Bolt Actuator Lever - Zinc & 2
d ‘ [&]
{2)#8 X 1-1/2" PFH WOOD SCREWS § % 2
. Sl 12
1.82" ) A
" (2)#8 X 1-1/2" PFH WOOD SCREWS #8X 2-1/2" PFH WS : =z 2
Q %
Lower Latch - Reinf Resin LATCH STRIKE & o i o
p g =S o
PLATE 3|2
25|
\ Aluminum Body N , * ;Q(_ %
' ; ‘ : T : LATCH DETAIL ]I3|8
- < 2
i S I\
0 [19) M=
(2)#6-32 X 5/8" MACHINE SCREWS o o S S8
LIS § B l\. - — _
0.063 - ~ |-
£ oatE: 11,/08/16
Lower Bolt Sleeve - Aluminum l i scate: N.T.S.
! s S DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
ULTIMATE MULTIPOINT ASTRAGAL Astragal Section E
TX—4653
SHEET 2 OF _7

R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI.- DR-850 Masonite ST Opaque (LK,DB\C - Drawings\TX-4653.56.dwg, 1.2

© 2016 R.W. BUILDING CONSULTANTS INC.



Ri\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-850 Masonite ST Opaque (LK,DB)\C - Drawings\TX-4653.56.dwg, 1.3

(2) #8 X 1-5/8" PFH
WOOD SCREWS

{TRIM COVER REMOVED)

LOWER BOLT SLEEVE
(REINF. POLYMER)

ULTIMATE HURRICANE ASTRAGAL

UPPER BOLT SLEEVE
{REINF. POLYMER)

R H

(2) #8 X 1-5/8" PFH
WOOD SCREWS

1.75"

2.65"

7

0.063" —{|=—

ASTRAGAL SECTION

HARDWARE LOCATIONS

5"

o
4 r«———ﬁ— 1.63"
%‘Eﬁ
BOLT RETAINER
(GF NYLON)
i 9.5" \/ i T
[ PR |
SLIDE BOLT ROD T
(STEEL)
BOLT RETAINERS
SLIDE BOLT ROD
ALUMINUM
ASTRAGAL

ALUMINUM ASTRAGAL ASSEMBLY

#8X 3" PFHWS ——— ||

#8 X 2-1/2" PFH WS

= & g
e 3 2
= 5 2
(@) s > 2
[-»] a [N
o §
£
N
a
o
4
O
B
& g Qg
2 |3 =
= = OL’:’
[N} o <
o £
0 L*,‘)g
R PRE
S o ~
S &
o <L
o o
[%2] %]
] B Y 16
73]
Q
o
QIO
=0
x|
SN
A1) P
OIF|L 2
= | o
Esi3l o
5 ENERE
flel| &
DEADBOLT STRIKE 3l
PLATE 2 g L
o) % é
-l..g % 2D
] jve}
/, LATCH STRIKE g I
" PLATE NERE
<
ElEG
LATCH & DEADBOLT DETAIL ol e CZ>'
oaTE: 11/08/16
SCALE:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4653

u‘i!’)
LN
e
e
£* 2
.mh_z g
o L N
L E‘.‘m
ol
& o
8% 8o
€ ‘T
> 89
>®
o
"
N
x
2]
m
(o]
o

BUILDING CONSULTANTS, INC.
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

SHEET 3 oF 7

© zo12 R.W. BUILDING DONSULTANTS INC.



Wy
e N
STILE {LVL) STILE (LVL) g5 2
INTERIOR 291" X 5 bk
fu O " [ T
s we = o G
. TOP RAIL 53 g‘;;_ 2>
R X (WOOD) EE zeg oo
— _\/ \ a 8>°'j Qg
1) oo o
EXTERIOR 081 ] 3 % 82 by
" et . i H] .
0.81 LOCK BLOCK 3 g 39¢ gp
WOOD: 12" LONG a S
1"\ HORIZONTAL CROSS SECTION ! ’ s S o
\2/ : gk
2 g =
25 GA. STEEL g
DOOR SKIN 8
35.75" DOOR
WIDTH 9
B
’D < (aTa)
e .. —J(D
= o W=
EES
Lt
INTERIOR EXTERIOR 2 >
.. 4 Ss
= x| O
o o
(1N | 3|
\2/ L
E [%2] N>
% o B ] )
* 51|
g ° 2
& FOAMCORE | Slo
. R Ivd (&)
: x 8 ™~ =
2 : S|l |»
in . = =z
o EEERE
™~ S Ol v
SEE HARDWARE Elole| 2
TABLE SIRIE| |z
8l
(S
= 8 <Q(
l - W 0 8 Dla
o < 13
1 S I
| : S| 98
BOTTOM RAIL | ‘ NERE
(WOOD COMP.) = z
oATE: 11,/08/16
. DOOR PANEL 1.75° SAE:. N.T.S.
Masonite » P— K
Steel (Wood Edge) MOD - on
(WoodEdge) M /"2 "\ VERTICAL CROSS SECTION o e LFS
LATCH: KWIKSET SIGNATURE SERIES (991 ,
KWIKSET (591) \y DRAWING NO.:
DOOR SKIN: 25 GA. STEEL {0.020" MIN. THICKNESS) DEADBOLT: KWIKSET SIGNATURE SERIES (980/985) TX—4653
CORE MATERIAL: POLYURETHANE FOAM (1.9 PCF MIN.) .

RA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-850 Masonite ST Opaque (LK, DB)\C - Drawings\TX-4653.56.dwg, 14

@ 2016 R.W. BUILDING DONSULTANTS INC.



RA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-850 Masonite ST Opaque (LK,DB)\C - Drawings\TX-4653.56.dwg, 1.5

G
6 N6/

a0

1
NC

CORNER PADS

(TYP.)

075" ﬁ-—ﬁ

1

(43
\INT

0.75" —1——»1

COMPOSITE
\ SNAP-ON
CA{\
%
3 ol
e
B
/
0 LVL
O
| ol
—.—1 1.25" ]"‘_> 1.25" |- -] 105
JAMB / HEAD JAMB / HEAD JAMB
PINE "Fusionframe” "FusionFrame”
{1-PIECE) [2-PIECE)

| 330

[t 075" 2

| 3 0

2X FRAMING 2X FRAMING
(G>=0.42) DRYWALL (G>=0.42) DRYWALL
e \ | % T \ ]
ki1 I ;;" \ y 1 4 NG
EXT. SHEATHING  }[[I4 o EXT. SHEATH!NG\ 1l ’
i : k h
1 | #10X2-1/2'PFH L
. T~ WOOD SCREW
1/4' MAX. 1 . -
SHIM SPACE - fflLl o >~ #10X 3" PFH
nZa
SEE 14 MAX. — | WOOD SCREW
v SHIM SPACE
] = 00)0o0)
DOOR PANEL } DOOR PANEL ~
S HEAD: PINE HEAD: "FusionFrame" (1-PIECE)
ENDURA WEATHERSTRIP ENDURA WEATHERSTRIP
(QEBD/PE 650) (QEBD/PE 650)

EXTERIOR W INTERIOR EXTERIOR W INTERIOR

72"\ VERTICAL CROSS SECTION (3" VERTICAL CROSS SECTION

w Outswing shown - inswing also approved w Outswing shown - inswing also approved

15"
1/4" MAX. i g.s'f"( 1/4' MAX.
SHIM SPACE (P SHIM SPACE
EXT. SHEATHING JAMB: "FusionFrame"

JAMB: PINE

(1 OR 2-PIECE)

EXT. SHEATHING

/

EEZ I E e . #10X 2-1/2" PFH %ﬁ S s s XS
E= e = #10 X 2-1/2" PFH
TN A
MA
2X FRAMING 2X FRAMING
(G>=0.42) ENDURA WEATHERSTRIP A
(QEBD/PE 650) ENDURA WEATHERSTRIP (G>=042)
DOOR PANEL (QEBD/PE 650) -
WL - AR R R
S S X A s
- g - M T " "' N \
RS RN
/ / 5
DRYWALL / ( DRYWALL

#8 X 2-1/2"PFH

WOOD SCREW

#8 X 3/4" PFH SMS

4" HINGE

#8X 1"PFHSMS  #8X2-1/2' PFH
WOOD SCREW,, o+ 1vppyy STRIKE PLATE

WOOD SCREW

LATCH

#8 X 1" PFH SMS
4"HINGE

7“1\ HORIZONTAL CROSS SECTION

w Inswing shown - Outswing also approved

#8 X 2-1/2" PFH
WOOD SCREW

#8 X 3/4" PFH SM$S

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.O. Box 230 Valrico FL. 33595
Phone No.: 813.659.9197
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.
CERTIFICATE OF REGISTRATION # F—11852

Documents Prepared By:

ENDURA
HORIZONTAL & VERTICAL

PART OR _ASSEMBLY:

PRODUCT:

CROSS SECTIONS

FS
LFS
BY

UPDATE TO 2018 IBC/IRC CODE

10/28/19|ADD "FusionFrame” OPTION &
10/03/18{UPDATE FOR NEW TESTING

2
1

REVISIONS

P
<
a
o
z
6

DATE: 11,/08/1

SCALE:  N.T.S.

DWG. BY: JK

CHK. BY: LFS

DRAWING NO.:
TX—4653

SHEET 5 oF 7

© 2016 RW. BUILDING CONSULTANTS INC.



R\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-850 Masonite ST Opaque (LK,DB\C - Drawings\TX-4653.56.dwg, 1.6

\\

INTERIOR EXTERIOR

DOOR PANEL
e

ENDURA
DOOR SWEEP

/1? / (DBK-R)

11243

W
INTERIOR EXTERIOR
DOOR PANEL
ENDURA \
DOOR SWEEP
(DBK—ZAC)\ ; fi
45

ENDURA
WEATHERSTRIP 1/ DOOR PANEL
(QEBD/PE ¢50),  NIERIOR EXTERIOR

ENDURA A
WEATHERSTRIP,  INTERIOR
QQG (QEBD/PE 650}

| EXTERIOR

L4

Lyndon F. Schmidt, P.E.

AN

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR [TW CONCRETE SCREW

/"1 "\ VERTICAL CROSS SECTION
W Inswing Adjustable Threshold

4.56" !
INSWING ADJUSTABLE THRESHOLD

ZAIL4565

1.65"

T

!

| 456 |

INSWING ARTICULATING THRESHOLD

6 ZACLA4565

#10 X 2.5" PFH WOOD SCREW OR
1/4" X 2-3/4" ELCO OR ITW CONCRETE SCREW

/2" VERTICAL CROSS SECTION

w Inswing Articulating Threshold
w/ Pin Capture

#10 X 2.5" PFH WOOD SCREW OR
174" X 2-3/4" ELCO OR TW CONCRETE SCREW

7“3\ VERTICAL CROSS SECTION

w Outswing Bump Threshold

#10 X 2.5" PFH WOOD SCREW OR

1/4" X 2-3/4" ELCO OR [TW CONCRETE SCREW
/ 4\ VERTICAL CROSS SECTION

\U Outswing Bump Threshold

4.56"
INSWING ADJUSTABLE THRESHOLD

"l

l ) | ] ] ! ] l |

. 456 | | 456" - | 456" | |
INSWING ADJUSTABLE THRESHOLD 3 INSWING ADJUSTABLE THRESHOLD 4 INSWING ADJUSTABLE THRESHOLD 5

2 | aas65eN ZAILAA4565 ZAIAA4565FN

MAX. DESIGN PRESSURE = 240 PSF

MAX. DESIGN PRESSURE = +40 PSF

4

1.¢" ;

| 46 |
INSWING ARTICULATING THRESHOLD 8

456" !

INSWING ARTICULATING THRESHOLD

INSWING ARTICULATING THRESHOLD 9

7 IACAS565FN
MAX. DESIGN PRESSURE = 40 PSF

ZIACLAA4565

ZACAA4565FN

ZAI4565RDS

TEXAS P.E. #104123

BUILDING CONSULTANTS, INC.

Documents Prepared By

P.O. Box 230 Valrico FL. 33595
Phone No.: 813.659.9197
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

ENDURA

PRODUCT:

VERTICAL CROSS SECTIONS

PART OR_ASSEMBLY:

LFS

LFS
Y

UPDATE TO 2018 IBC/IRC CODE

10 INSWING ARTICULATING THRESHOLD

IAC4565RDS

MAX. DESIGN PRESSURE = +40 PSF

MAX. DESIGN PRESSURE = +45 PSF

[4]"_>

,[ ["———— 4.56"

G A

|

} 0 | o I )
T ne ne
% > &
1 ! i
! 456" ,! » 4.56" | - 456"
17 QUISWING THRESHOLD 12 QUTSWING THRESHOLD 13) QUISWING THRESHOLD
TOBLA565 7OBA565FN 70BA565RDS

FOB4566

14 OUTSWING THRESHOLD

10/28/19|ADD "FusionFrame” OPTION &

10/03/18 UPDATE FOR NEW TESTING

2

1

REVISIONS

DATE: 11,/08/1

P
<
a
o
z
6

SCALE:

N.T.S.

DWG. BY:

JK

CHK. BY:

LFS

DRAWING NO

TX—4653

SHEET 6 ofF 7

© 2016 R.W. BUILDING DONSULTANTS ING.



Ri\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD| - DR-850 Masonite ST Opaque (LK,DB)\C - Drawings\TX-4653.56.dwg, 1.7

HEAD ANCHORS: A ‘&i "
s o 2X FRAMING #10 X 2-1/2" WOOD SCREW (PINE JAMB) . " "o
05% (BY OTHERS) #10 X 3' WOOD SCREW (1-PIECE JAMB) }‘ 0X 2.5 PFHWS ,e‘a“g:.fs ai 2 3, gy
Eo .. & S IS i [Es B B
390 v U = (TYP.) / .5’73’ e A ui o'.g, %"‘
s Q (TYP.) N : Fu; iQim 2 £ n fu
8 6 S R A O “u 528 Oa
| o) % Gt PNLE T RTIE
—_— — N 14".. :03“ s FTo 22
: SEE HINGE | T o ASTRAGAL STRIKE ORI S-E T @g
T ﬂ;}// DETAIL 1 f DETAIL 1  PLATE @ HEAD JAMB ?zl‘{;g* 3 "vi”»c‘-" 5 88 p 2o
—_ e [+
0 | SEE DETAIL 1 © & = 3 25% s,
L G
N : i E = JAMB ANCHORS: 2 do5 g
#10 X 2-1/2' WOOD SCREW (PINE/2-PIECE JAMB) o Do 3 s
= E #10 X 3" WOOD SCREW (1-PIECE JAMB) 2 § g
3 - T L R gk
o n #8 X 2-1/2" PFH WS 3 °
EEQ{ T ” % 8
o |i] @
" é/. -
SEE HINGE E REXTPRHWS <0, Hlo Sl == #8x3/4"PFH Ws
DETAIL 2 ii E E " — 4" X 4"HINGE o
h\ =
SEEDETAIL2OR 3 <5 3 [
e | <k s |.¢
* = HINGE DETAIL 1 > 71 S
L ‘ ﬁ 8 % @l <
l [ 1 L l B A\ olay
- | #8X2-1/2' PFHWS ) 2 g
) SILL ANCHORS: e | S g
" #10 X 2-1/2" PFH WOOD SCREW " é.«' {0~ | S =
4 (TYP 4" (TYP) 1/4" X 2-3/4" ELCO OR RBXTPRHWS <o LI, SIFt= #8X 3/4" PFH W5 & &
HINGE JAMB FLOOR SUBSTRATE MATERIAL ITW CONCRETE SCREW "~ 4"X 4" HINGE wls
CONCRETE {MIN. 3000 PSl) \ e [ 147
WOOD (G >=0.42) FRAME ANCHORING ¥ w
XX
HINGE DETAIL 2 IS
O
*NOTE: THESE ANCHORS REQUIRED FOR D.P. > 40 PSF. Slz|e
587 v
JAMB NOTES: woC| 5
THE PINE OR "FusionFrame" 1-PIECE JAMB MAY BE INSTALLED @ THE HEAD OR SIDE JAMB. g Sy 0N
THE FusionFrame" 2-PIECE JAMB MAY BE INSTALLED @ THE SIDE JAMBS ONLY. “E ole %
Slio
CONCRETE ANCHOR NOTES: Byl
1. Concrete anchor locations at the cormers may be adjusted to maintain the min. E g,: b
edge distance to mortar joints. 3/16" X 2-3/4" ITW CONCRETE SCREW ’ ’ ol&|S
2. Concrete anchor locations noted as "MAX. ON CENTER must be adjusted fo OR ASTRAGAL PIN CAPTURE 2 = qQ
maintain the min. edge distance to moriar joints, additional concrete anchors "
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. #8X 3" PEH WOOD SCREW COMPONENT (UNDER CAP) g g W
3. Concrete anchor table: ASTRAGAL STRIKE 2R >
@]
Y e R I A =
mw i L o\f _® S ® (AP .
TAPCON® | 3/1¢" 1-3/4" 3 1-1/2 = = = = = oaTE: 11,/08/16
lTw it} L il ti} SCALE: N. T‘S.
1apcon®| 14 1-3/4 1-1/2 4 owe. o JK
e IRV 1-3/4" " & 1/2'DIA-HOLE pErA 2 DETAIL 2 DETAIL 3 o o LFS
WOOD SCREW INSTALLATION NOTES: Outswing Inswing Inswing TX— 4653
1. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of
wood screws o prevent the splitting of wood. SHEET _/ OF 7

© zo16 R.W. BUILDING CONSULTANTS INC.



